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1 For more on the Major Work of the Grade, see achievethecore.org/focus. 

https://achievethecore.org/category/774/mathematics-focus-by-grade-level
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Name: ___________________________________________ 

 

1. Select all of the answer choices that are solutions to the equation 2𝑥 + 2𝑦 = 0.  

 

A.  x = 0 D. x = –2   

B.  y = –1 E. x = –2, y = –2 

C.  x = 1, y = –1  F. x = 0, y = 0 

 

2  Decide whether each pair of simultaneous equations has no solution, exactly 1 solution, or 

infinitely many solutions. Check the appropriate box in each row. (1 point) 

 

 No Solution  Exactly 1 

Solution 

Infinitely Many 

Solutions 

𝑥 = 𝑦 

1.25𝑥 = 1.25𝑦 

 

 
  

9.9 = 6𝑥 +  8𝑦 

9𝑥 = 2.5𝑦 − 8.8 

 

 
  

11𝑥 − 2𝑦 = 1.5 

11𝑥 − 2𝑦 = 2.5 

 

 
  

 

 

3.  A pair of simultaneous equations is shown. 

 

𝑦 =  7𝑥 − 15 

𝑦 = −
1

7
𝑥 − 15 

 

How many solutions does the pair of simultaneous equations have? Describe your 

reasoning.  

 

Answer:     I know there are ________________ solutions because 

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________ 
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4. Consider the equation: 

 

 −
4

3
𝑦 −  

15

6
𝑥 =  

−5

7
  

 

How many solutions are there to this equation? _________________ 

 

Explain what the graph of the solution(s) will look like on a coordinate plane.  

 

 

 

 

5. Which coordinate grid shows graphs of y = mx + 3 for several values of m?  

 

a.  

 

b.  

 
 

 

 

 

c.  

  

d.  
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6. Two equations are graphed below.  

(a) Circle the point or points on this graph that represent the solution(s) to the system of 

equations.  

 
(b) Explain how you know that the point or point(s) you circled represent the solution(s) to 

the system of equations.  

 

 

 

7. A music festival has two types of tickets for sale. An Event Day ticket costs $54.95 on the 

day of the festival. A Pre-Sale ticket purchased before the day of the festival costs $39.95. 

A total of 20,000 tickets (Event Day and Pre-Sale) were sold for $925,000. 

 

How many Event Day tickets did they sell? How many Pre-Sale tickets did they sell?  
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8. The coordinate grid below shows the graph of a system of two linear equations. 

 
How many solutions are there? Explain your answer using numbers and/or words.  

 

 

 

 

9. What is the solution to the pair of simultaneous equations shown? 

 

 4𝑥 −
4

7
𝑦 –  16 =  0 

 6𝑥 = − 7 –  8𝑦?  
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10.  The graphs of two linear equations are shown below. 

 
Check the box next to each correct statement.  

 

□ (-3, 2) is a solution to Equation 1.  

□ (-3, 2) is a solution to Equation 2.  

□ (-3, 2) is a solution to both equations. 

□ (-2, 1) is a solution for Equation 1. 

□ (0, -6) is a solution for Equation 2. 

□ The system of Equation 1 and Equation 2 

has (-3, 2) as its only solution. 

 

 

11. Henry is four times older than James. Next year, Henry will be three times older than 

James will be.  

 

How old are Henry and James now?  
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12. Kim has a small container and a large container as shown. 

   

 
Kim can fill the large container completely with water by pouring 16 of the small container 

into it. If Kim pours only 3 of the small container into the large container, there is 1.95 

gallons of empty space in the large container. 

 

What is the capacity, in gallons, of the small container? What is the capacity, in gallons, 

of the large container? 

 

 

 

 

 

 

 

13. Equation 1 and Equation 2 form a system of equations. 

 

• Equation 1:   3x + 9 = -4y + 2  

• Equation 2:  The equation of the line that passes through the points (0, 1) and (2, 5). 

 

Does this system have a solution? If so, write the solution(s) to the system of equations. If 

not, write “no solution.”  
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1. Students receive full credit for only selecting these two choices:  

C. x = 1, y = -1 and F. x = 0, y = 0 

2.  

 No Solution Exactly 1 

Solution 

Infinitely Many 

Solutions 

𝑥 = 𝑦 

1.25𝑥 = 1.25𝑦 

 

 
 ✓  

9.9 = 6𝑥 +  8𝑦 

9𝑥 = 2.5𝑦 − 8.8 

 

 
✓   

11𝑥 − 2𝑦 = 1.5 

11𝑥 − 2𝑦 = 2.5 

 

✓    

 

3. There is one solution. (Or any answer that expresses the same idea.) 

NOTE: There is a variety of possible explanations, such as “I know when 𝑥 =  0 then 

𝑦 =  −15 for both equations,” “because the slopes are different, the lines will intersect,” 

“the graph of the lines are not parallel so they will cross,” etc. 

 

4. Infinitely many solutions. (Or any answer that expresses the same idea.) 

The graph will be a line. 

 

5.  

a.  

 
  



8.EE.8a, 8.EE.8c – Simultaneous Linear Equations – Answer Key 

11 

 

6. Student circles the intersection points as shown. 

 
There are two solutions.  

There is a variety of possible explanations, including “because the graphs intersect at two 

points,” “the equations share two values,” “there are two points on the graph of both 

equations,” etc. 

 

7. 8,400 tickets were sold at the music festival; 11,600 tickets were sold before the music 

festival 

 

8. There is one solution.  

There is a variety of possible explanations, including “because the lines will eventually 

cross,” “the lines are not parallel,” “the lines have different slopes,” etc. 

  

9. (3.5, –3.5) or any equivalent answer. 

10. Student only selects these three statements: 

 

□ (-3, 2) is a solution to Equation 1.  

□ (-3, 2) is a solution to Equation 2.  

□ The system of Equation 1 and Equation 2 has (-3, 2) as its only solution.  

11. James is 2 years old; Henry is 8 years old. 

12. The small container holds 0.15 gallons; the large container holds 2.4 gallons. 

13. Yes, there is one solution at (-1, -1). 

 


